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Answer-key & Solution
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Note : If your opinion differ regarding any answer, please

message the mock test and Question number to 9560620353

Note : If you face any problem regarding result or marks

scored, please contact : 9313111777
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SOLUTION

6.(C) D2 = d2 + 4dh

D = 2 4d dh

2(25) 4 25 15   

2125mm

= 46.09 mm

46D mm
63.(C) Stroke length (L) = 250 mm

Double stroke per minute = 30

Average velocity = (260 mm) × 30 
Stroke

m in

mm
=7500

min

m
=7.5

min
79.(C) Casting size = 200 × 200 × 70 mm3

1s
t =10 min

for casting size = 200 × 100 × 10 mm3
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V
1
 = 200 × 200 × 70 = 28 × 105 mm3

(S.A)
1
 = 2[(200 × 200] + (200 × 70) +

(70 × 200)] = 136 × 103 mm2

V
2
 = 200 × 100 × 10 = 2 × 105

(S.A)
2
 = 46 × 103mm2
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     
         

= (0.211)2

2s
t 10 0.0446min 

2s
t 0.446min


